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But there is this Tanna who does not expound Dayo

OVERVIEW
The X713 cites 2°XMnX who made an attempt to designate a Xi1n who does not agree
with 17 (even if 1"p 719 X?). Our Moo1n discusses whether there is such a Xin.
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And all the attempts to find a Xin who disagrees with 17 (if 1"p 779°2 X%) were
rejected; everyone agrees to 17 (if 1"p 7797 XY).

mooin asks:
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And it is astounding! For the X7 in »Xw; pap asks, ‘it is understood

according to the one who maintains 197 -
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However according to the one who disagrees with 137 what can we say’? This
concludes the citation from the X723 there. N0 continues; and even though that
there (in X7 P19) the v''p will not be ineffective even if we say .

mooIN answers:
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And one can say that (indeed there is no XIn who disagrees with 17, however) the
X3 there challenges the ruling that a PR is M5 by 77°2K) 1201 if it was 7KW

" The xm there states that we derive that a X1 (a borrower) is liable for the item being lost or stolen (77°2X) 712°13)
from him (even though it does not say this explicitly in the 7710, nevertheless we derive it through a 1"p) from a W
75w (a paid custodian), in this manner; if a w"w who is 75 from 701X (an unavoidable accident) is nevertheless 2717
for 77°aR1 72213, s0 a PR who is 1PO1RA 277 is surely 772X 72°132 201, The X3 continues that this obligation for a
OXW to pay for 77°2K) 72°13 is only if it was not 0°9v22 72°Xw (when the "X borrowed the item the owner was not in
the employ of the 7XW), however if it was 0°7v22 717°RW (the owner was in the employ of the PXW), the PXw is 7w
on account of 1"7. Since a W"¥ is 77°2R) 722132 27 only if it was not °2¥22 77w, similarly a PXW is not 712°132 20
77°281 (which we derived from a w"w) unless it was not 2°9v22 72°Xw, for 11712 11’732 1777 12 X272 1T
2 If we will say 17 there, the result will be that a HXW is 77°2X%) 72°332 20 when the 7X@ was not 2°9v22. The 1"p
accomplishes that a X1 is 77°281 72°132 20, which we would not have known if not for the 1"p. See ‘Thinking it
over’.
3 How can the X3 ask, how will we understand according to the one who disagrees with 17, when from our X it
is evident that there is no X1n who disagrees with 1°7.
* How could have these 2"k assumed that 1°7 131K X2; how would they know that a HXWw is 77°28) 72223 w9
aRr)Smin
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0°%y22 according to what these 29871%2K here assumed initially that there is a xin
who disagrees with 1°7.

SUMMARY
Everyone agrees with 17 (when 1"p 779°» X?). The X3 may pose a challenge,
based on a X"7.

THINKING IT OVER

Why do we need a 1"p to teach us that a PXw is 772K 72°32 27n1?° Seemingly
every 7XW is ultimately a 75w 9 W; he is getting paid for watching this item; his
pay is his usage of the item!°

3 See footnote # 2.
6 See 719N WO XN # 56.
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